oS0 8ECH

T022

BET02220PJA

PARTS LIST

No.189-02

From the library of: Superior Sewing Machine & Supply LLC



Ref, jNote Part No. - EC. Amt.
No. | 2 B Description HEER =y & Rﬁ“i
1 MAT-026000A0 TC026 AIR TYPE FLAYT CUTTER T026 F39knYA- 2% 1

2 MAT=-02611000 KNIFE BASE COVERs WIDE AZRNS AAYN= [ ) {1}
3 #01|MAT-02610000 KNIFE BASE COVERy NARROW FRAAVNS DAY~ [ ®Y) i1}
4 $S5-4090610-5P SCREW 9/64=-40 L=é FANIUN 9/64-40 L=9 T}
5 5$5-70603}0-57 SCREW 3/32-56 L=3 IRESEIM 3/32-586 L=3 (B %!
é 5$85-10606}90~SP SCREW 3/32-56 1L =5,5 IF¥YN 3/32-56 L=5.5 2]
7 $5=-7T030410~5P SCREW 9/64=40 L= 3,5 TREIEIN 9/64=40 L=3.5 11y
8 §§~6080410-5¢F SCREW 1/8-44 L=& CI*vN 1/8-~44 L=4% (2
9 CQA=-2000000~00 OIL WICK 1z {0e1)
10 CJ=2020000=-00 DIL WICK b ({021
t1 MAT-026056000 MUVING KNEFE BEARING [l VAL L ) {1}
12 MAT=-02603000 FIXED KNIFE JI74 FZ {1
13 S§-703805:10-TF SCREW 1/B~44 L=4.5 IREIZYN 1/8B-44 L=445 [
14 MAT-02602500 MOVING KNIFE [ I S (BN
15 MAT-026070A0 KNIFE DRIVING HASE ASM. AR Dpwaang yuang {1}
16 S$5~6060220-5¢ SCREW 3/32~56 L= 2.0 E3&yYN 3/32-56 L=2 {121
17 MAT-022180A0 AIR STOP PLATE ASHM. IP-bAf2 9% {1}
18 35-3120540-5P SCREW 3/16-28B L=5.% FEsMN 3/16-28 L=5e4 {1}
19 MAT~-026010AC KNIFE MOUNTING BASE ASM,. AAZWNS pyang t1}
20 MAT-~02609000 SPRING FUOAZ NI AN2 (i}
21 35-50460310-5P SCREW 3/32-56 L=2.8 FIARIN 31/32-56 L=2.8 t2)
22 MAT—-02604000 FORKED LEVER 77 33 Lpne- (1)
23 $5-70A0520~SP SCREW 1/8~44 L=4,9 THEIRUM 1/8~44 L=4.9 (2}
24 MAT=-02211GC0 DRIVING LEVER SLIDE BLOCK FhBappliz- po3uny fL:
25 MAT-02605000 DRIVING LEVER Ll B T L (1}
26 02 [MAT~-02105000 SLIDE BLOGLK . AA2EVN= noawy (2}
27 50-055%027L~-T9 HINGE 3CHEW D= 5,50 H= 2,7 AV aun D=5,.5 H=2.7 tx}
28 §5-706304310-5P SCREW 9/64-40 Lz 3,5 IREZETIN 9/764-40 L=3,5 (1}
29 MAT-02212000 FELY PRESSER FIAFAYL [
30 HAT-02213000 Fel? $131714 (1}
31 $5+-7120710-SP SCREwW 3/16-28 L=7 LIy 3/16-28 L=7 i1}

Note GEE2)%01..... Accessory part

RS

#02.....0ne of the two is mccessory part

AR HR&ETT.

JUK! CORPORATION

HEAD QFFICE
8-2-1 KOKURYO-CHO,
CHOFU-CITY, TOKYD 182, JAPAN

BUSINESS OFFICE

1:23-3, KABUKI-CHO
SHINJUKU KU, TOKYO 160, JAPAN
TELEX : J2R967, 232-2301

PHONE : 03(3205)1188. 1183, 1190
FAX | 03(3203)8260, (3205)9131

JUKHRTEY

F182 B|RERIHDEAMNS-2-1
TEL 03-3480-1111{{t &}

T RGBT -
TEL 03-3480-1113{F 1 ¥l )

1983 . 1 Printed in Japan

From the library of: Superidr-Sewing Machine & Supply LLC






